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How many components of a computer based Information system (CBIS) has?

Y- x.u&‘r’ 6/»-/7 oIl he it | 1

Which of the following characterlstiu of a wave Is Independent of the othars?
~ Wave length }fg, (D) Amplitude Sﬁ&/ 1(C) Frequency o> l) ® | Speed .0, (A)
Srawliric 0.am Py aniz GEEJS 1823 Prs & 2

Awave moves on a s!lnky with frequency of 4Hz and wavelength of 0.4m. What Is the speed of Wave?

. 1.8 ms™ (D) 1.4 ms” (C) ~12ms” (B) 1.6 ms” (A
Which form of energy is sound? . : 1‘4,')0” f&i}l AL 3
chemical JQ{ ) thermal ¥ # (C) '~ mechanical ‘)95' (8  electical KXW |
The Index of refraction depends on? ?+kﬂ4J Af Mf{ )JuTJ‘ }lv 4
object dlstanouJ‘BL(' (D) image distance 4.14&6! © speed of light 4;5450’ 3 (B) focal length J,}J Jf
Capacltance is defined as. -:rawb)m..z ¥l 8~ 65( 5
viQ (D) av(c Q/v (B) vc (W

?4_69:19'» AJPUJ g %—:f 0 é. sttt 7 ubuflﬂ.,x 6

When we double the voltage In a simple electric circuit, we double the. | / |
both A and B BslA Ui (D) Resistance J” 4(C)  Power 2JU (B) s ~ Cument 2/ (W)
RN ST FISIOE N (5 P o V' 71 uflb'{‘:k;! 7

One of the isotopes of Uranium is 2%Ug, The nurhber of neutrons is this isotope Is ?

338 (D) . 238 (C) 146 (B) g2 (A
Transformer is used to change the value of. , : ,4.[_&',492.4,&&.&( Ji* /Ml} 8
Voltage é’ » (D) Power <JU(C)  Energy 3/ (B) Charge Cug (N
input terminal of NOT gate is. : Ol I §FE JagusadNOT | g
Three ¢£(D) = many wli (C) Two » (B) O‘ne. LI
. George Boole Invented. ' kLAt | 1C

Geometry (§ #& (D) Mean Algebra | £Ic% (C) Arithmetic Algebra I/I..@; 4 (B) Boolean Algebra l/ldi w

¢ & ,mdu/ﬂz,(cms)("‘/ o ,wm)J 1

6 (D) 5(C) 3(® 20
The number of isotopes of Hydrogen is. -Gl &J‘};}f L ukl |
' 5 (D) 4(C) 3 (B) 2(A
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Q.No.2: Write short answers to any five of the followings 5x2=10 -é(j aWt} . Ailé&c,uid.s(y» 20
Describe two features of parallel combination of resistors. _ég F e r? mf!zd'w:f_: ¥ 2
Write the names of two devices for safe use of current. ,éd (I:L..:aﬂ(? ol LJF1es ML(f

e lks Stz s A’ﬂlg’—[—c}j wde /s

How Ammeter Is connected In circult to measure the current? Support your answer with reason.

What Is the difference between a Generator and a Motor? SISty s p R
Dlifferentiate between step-up and step-down transformers. _éuyd )U:J/J“)'}UJBY?JJ‘V“J.’
What Is solenold? State the principle to determine Its polarity. .édwflb’i.f r é A{d’ 18-l sty
Define cosmic radiations and write its source. .é{/’ (‘( u’;rhﬂé..g ; dﬁ!d&m_ﬁ‘b‘
Define the Half lifa, What Is the haif Iife of Radlum — 226 ? So IV §226_ b By F IV |
Q.No.3: Write short answers to any five of the followings 5x2=10 £ 2 ALl Libs B340
Define Pltch and Quallty of Sound. oy 7881798550
Selinpllpd LarbilslSEcte  f
Medium Is necessary for propagation of Sound wave, prove it with experiment.
Define Ultra~sound, write its one use. .ég v JF L u‘l_é...! ¥ S50 | A
What Is Electron Volt? Write Its relation with Joule. 70 2 Jrvus ety H
State Coulomb’s Law, write it's formula. ,éé4 4 ﬂraﬁb’mu!éuhuiﬂdf
Write two characteristics of Electric line of force. E f ol St AR
Write down advantages of E-mall. _é4 FallJe sl
How Is Internet beneficlal for us? write about It. ,éd ?4.4}‘/,3J g‘.c.:ldu‘a.:’ A
Q.No.4: Write short answers to any five of the followings 5x2=10 ‘éyau;:}&ztéycuids@; 4 A0

s Sk b S el By S S
Define mechanical waves and why these waves cannot pass through Vacuum.

Ky 3L el P h e S

Describe the relation between speed, frequency and wave length of a wave by an equation.

Define time period and frequency. _é-!f7 (56){:()»!&4/&
What Is nearsightedness and how It can be corrected? i'qiﬂoy.y»b)u’ [ PRIy |
State two laws of refraction of light. EefInl )88
What are lenses? Write their two uses. _éJ i Ind it iz
Differentlate between analogue and digital quantities. .éuw )J’U’J’j"ﬁ" Y
Write two uses of digital technology In our dally iife. £, /’dv”lutuf’»/_dnu;uz,d)cé‘ﬁ‘-‘i :
(Part 1) /n.e
NOTE: Attempt any two questions from thls part. 9x2=18 _éJ chzLelynedfe s o (i
(1+3) e Ui S pS Eer s P f S0 S S | WA ]

Define Electric current; explain with dlagram that battery is a source of current .
& 1L 8N Bt b LsP bbbt st | B

Ashes from a campfire deep In a cave show carbon-14 activity of only one-eighth the activity of fresh | .
wood. How long ago was that campfire made?

(1+1+2) .é{/f ¥ pl {._!zd"df’ ‘}:{‘J ?4,0/1145&&&’ w1 | 62U

What Is fiow of information? Draw a dlagram of communication system and give function of each part.

vémv,,é" nZdLL Sty 2C 4 k-{q,mu%,yo.osc wﬂz,yya,p,,)f/:zqs vy el | (8)
A capacitor holds 0.03 coulombs of charge when fully charged by a 6 volt battery. How much voltage
would be required for It to hold 2 coulombs of charge? (5)

(1s241) &, /u’fg S Fhits S me kol e sS cl pf g s Bltsy W74

What Is compound microscope? Draw its rays dlagram and write magnification of It.

() g=100ms? S Ej bt bbb LB 2L | B

k|
R

‘Flnd the time period and frequency of a simple pendulum 1.0 m long at a location where g = 10.0 ms>.
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15= A S wm 20=3, TV I et ..,,f u"m
fjl.fub,-h’dﬂr‘d:uliua;z.u‘.'w/l)icr)afédlrffLé%'dli..wéd.aDJ:'A B,C uUJ’j/irédb’j‘ e
Ertard bt 20sl s Bisss SIS /,f ki, 4;{ sl S A ofi |
Nét-Qh-22 1A
Astmig.ht angle contains ‘;.m,,ur."‘" L
360° (D) 270" () 90° (B) 180° (A)
Area of semi~circle is ?—“” S Y 2)
2nr @ wr @© (@) -“—i-cA) |
The median of a trizngle are wLnL.lb,«:é..,ﬁb &)
4 (D) Non collinear J-i(' Z (C) Collinear (7 (B) Concurrent 5 430 (W)
Pomts on the negative x-axis have negative ‘r'"d _wd’ J ] % s 4)
Fraction /(D) Value = (C) Ordinate 2257 (B) Abscissa Le?f (A)
d=y/0o=x1)? + (y,=y1)? iscalled e 8{d= /02 + -y | ©
Equal point bithl+ (D) Non-collinear points +845(%# (C) Collinear points ki 5% (B) Distance formula K¥_4e6 (A)
Area of & square with side ‘S ” is ctn i ks’ BN 0| ©®
M 25 45@ s Q@
Va = al’™ isasurd of order Yy Va = al/n ("uui'* (€)]
a (D) 1/n (© n (B 1@
(a+bF + Ga~bl =1 | G+ +G-bP=?| ®
2*+bY) (D) &*+b° (C) -4ab (B) 4ab (A)
Factorization t =12t + 36 t* =12t + 36 éd/’ (9
t+36)° @) (6-t¥ (© (-6Y B) (t+6) (A
Product of two expressions = = N Wu:“?d;fw (i)
LCM Jioias @8) BCF e (W)
HCFXLCM il x fidms @  Ber+LeMm  Fik+ Froin ©
If15>10and 10> P then 15—— P , 15— P 710>P si1s>10 1| QD)
2> ddetz @)  Sadetfe (© > clie B) < otfa (A
Quadratic formala is ¢ FenlaEnn | (12)
gl Gy DElce, shiwtee gy chadBue g,
If x,v,z ER thenx>yandy>z = x>zis called ‘;._thf x>z & y>z 2 x>y J xy,%ER /"l a3
Transitive property wabzcs™ (B) Trichotomy property el (A)
Muliiplicative property b} (D) Additive property =% (C)
The orderof [4 7]is 2,04 71 (8
4x7(M) 1x1{) 1x2(8) 2x1 ()
In figure £a and £ are called ' ) 3/7/ . A zbaiza s f | (1)
) /,/b :
Corresponding angles &-sLin Ft3 (B) Vertical angles &-sti(ls (A)
Adjacent angles &-sUJe* (D) Alternate angles &-sliJslr (O B
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Q.No.2 Write short answers to any Six of the following 2x6=12 2’.;. 3 /’ ANy 4 /ﬁ‘ L;l?li:_uﬁd:bu 2/ dlr
If P(x) = 25+ 2z’ +x -1 , then find P(~2) 2t P(-2) InP(O =207+ 2xP4x-1 Si |
Rationalize the denominator 4— = 4—_1—\/——5— 2 b e f | i
Define surds. Give an example FoJe L/ Ny Aol | i
Factorize X" —14 + 5x X—14+5x (S o
Factorize & +a—3a’ -3 a’+a—3a"—3 2__":(,57’ v
x—1, % +4x-5 'U‘ibq,d/.’)YKL?J,éfo/” 31/&’1?_5}: :-_.dj’.l? vi
Use factor theorem to determine if the first polynomial is a factor of the second polynomial x—1, X +4x-5
Find H.C.F by factorization 3%y’ , 12xy" , 15%’y’ Wy, 12yt L 1550y Ze A 2 | i
Find L.C.M by factorization xzyz i xyzz ; xyz2 xzyL ¥z, xyz ér;‘” Ja' fuSlaos3(5 f 2ok | viil
Define L.C.M _ g\.g! /7 & ‘ﬁ hdluolsl | ix
Q.No.3  Write short answers to any Six of the following mb=12 é,{,; YA 4 f'; L»lZl{c_uﬁdJ&w 3 /:“.'dlr
Solve: 2(7x—-6)=3(1+3%) 2(7x-6)=301+30 ZJS | i
Solve: Vx — 1-10=0 Vi—1-10=0 &/ | i
Define * Linear Equation ” . Give an example sl Z-f_y f‘- & ;'.'AJV(F iii
Write in standard form  2x =~ + 3 ' m=2+3 FELY | i
Solve by using factorization method xX-8+7x=0 xX-8+7x=0 é S| v
Write in standard form. Find the values of 2,b,c. 2x+-3— =X é{'!‘”-"«é’.‘g{a,b,c u!guﬁfd/&vax*--z- =x'| vi
Define skow symmetric matrix sy SN E | i
e P [ e PR R
If A-{; _i],B = [é ”;ﬂ ,C= [(1) ;] then show that: A+B—C = [g '1;?]
Find the detorminant A = [—i jg,]; A= [_; _?3’] £t | i
Q.No.4 Write short answers to any Six of the following 2x6 = 12 éjayz}?é »th{:;_ufdjEm 4/.};)1:
Write the pair of supplementary angles from the figure / o sl ugis }d‘ i
BE S s snmgansss ) MLAS crrenens 7 AABC = AFDE /i i
IFAABC = AFDE,then BC= o, mMZA= e
Define a rectangle with figure "4,!;:‘_}" 2 2-:..;:' j' e ,J:,H/ iii
Define orthocenter =/ SeeAL | v
Draw an equilateral triangle with length of each side is 6 cm. nr 6 é’ A 2,_-&&“511?0!6:[/-.{! v
Find the area of the rectangle 2 m long and 18 cm wide q,/‘f & séu‘gm o Z&JJ ¥ é()" J/b’;}.‘.“p vi
The diagonal of a square is 14 cm. Find its area ér)" J N 147808, | vid
Define collinear points =/ S S| viii
Find the distance between the points (2,1),(-4,3) (2,1),(-4,3) ZEpo e sl | ix

(Z:IJ/J)
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NOTE: Attempt any THREE questions from this part 8x3 =24 ZSIrd ekt oy s
Solve by formulas (3£ + 2m)* - (3£ —2m)’ G + P - (38 -2m) S craludrh | W-5.AJr
Factorize x°—y° Coy' #eF | @)

Solve x+2vX =18 x+2VX =15 25 | W6 AU
Find the square root of the following (t=2% -4t + 48 5 t#0 o i)t | (B)

(AB) =B'A' JZat B= [_; —g} , =[3 g] yr

INE NS T

zZ 6 -1 -3 ; b R
el G179,
fA=|, ¢ » 0'1 then verify (AB) =B'A
Solve by using Quadratic foromla 106" —5x~15 =0 10x° —5x~15=0 gf s e J ,,_f 25 | (B)
A= [;f i] then show that A”'A =1 Ala=1 Zed A= ﬁ i] Si | W-s. AU
Za.b;vj‘bmt“.zfc.,gﬁ(: B A HIC iy B SstwBC =4cm s mAB=3cm S ekaBC &8 ) | (B)
In a right triangle ABC, AR =3 cm and mB € = 4 cm with right angle at B. Draw a circle through A, B and C
_ ol 128G g S G B39 36 1SV S L A-9,4 i
The sides of a triangle are 15 cm , 36 cm. and 39 cm. Show that it is a right angled triangle
JBEE C4,3) 1B(6,2) , AR,4) 4ESFEak | (B)

Show that the points A(2,4) , 86,2}, C(4, 3) arv collinear
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